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QUESTION TWO: AGGRESSIVE BEHAVIOUR

The Chillingham wild cattle are the only cattle in the world that have remained pure, with no breeding
from any outside population. They still roam wild in their historical surroundings, the 365-acre park at
Chillingham in England, which was closed off in the 13th century to provide food and hunting. They
are believed to be the descendants of the original oxen which once roamed England. Their estimated
population numbers vary between 40 and 60. This is the total world population.

The bulls in the population have a dominance hierarchy. The alpha male is known as the ‘king’. Most
challenges are settled by ritualised fighting, a display of bellowing, pawing of the ground, and tossing
dirt and debris around. Sometimes it escalates to full-contact fighting, resulting in injuries or deaths.

Discuss the behaviours that have led to the success of the herd.
In your answer, include discussion of:

. dominance hierarchy, including a definition

. an advantage of the hierarchy for the king

. an advantage for the females in having a king in the herd

. why fighting is usually ritualised but may escalate to a physical fight at times.

There is more space for
your answer to this question
on the following pages.
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QUESTION THREE: SALMON HOMING BEHAVIOUR

Masu salmon (Oncorhynchus masou) is a fish species native to northeast Asia. All salmon have an
excellent homing ability, which results in their return to the same stream they hatched in, to produce
offspring. This homing ability appears to be due to the imprinting of chemicals present in the home
stream when they were young. Once in the river, the female fish release eggs, and male fish swim
over the eggs, releasing sperm. This is known as spawning, after which many adults die. There is no
parental care for the fertilised eggs or the young salmon once they hatch.

Just-hatched salmon Very young salmon
Young salmon migrating downstream to sea Adult salmon migrating upstream

Discuss how the homing behaviour of the salmon ensures their success as a species.

In your answer, include discussion of:

a navigation method used by the salmon to move from the sea to the stream, and a taxic response
to move up the stream, including a description of each

an advantage of this homing behaviour

how having a lot of young is a successful reproductive strategy for the salmon.
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